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23 Here is a circle, centre O, and the tangent to the circle at the poiat P[4, 3) on the circle.

ey

Find an cquaton of the tangent t the poin .

(Total for Question 23 is 3 marks)
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3 Line L is drawn on the grid below.

=

Find the cquation for te siigh line L
Give youramswer nthe form - + ¢

3is3 marks)
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25 4-2,1). 36, 5) 1 O, ) ae the verices of a rght-ngled wangle 43C.
agle 430 e ight sagle.

e T ———
(e your amser i e fom - =€ W , b and ¢ ae gers.

(Totalfor Question 25 s 5 marks)
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17 Ly and L; are parallel lines..

The squtonof Ly sy
L pases thuoug e pois 6.9

Find an equation or Ly,

(ot fo Quesion 175 3 mark)
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17 The line N is dravm below:

Find n o of e i perpendicalar o lne N hat ass hrongh e piae 0, 1)

(Total fo Question 1715 3 marks)
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19 The dingram shors a swsight v, L, & on a gid.

(Total for Question 19 s 3 marks)
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Line L i dvwn o the i
@ Work ot the gradint of Line L.

Ascter i, Line M, prallel o Line L snd s thongh the i (6, 2.
) Findan equsion o Line M.

(Totsl 4 marks)
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23, A scight me passes through 0,3 4 6, 10,
Find e cquationofthesaight lne.

Clotal 3 marks)
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7 This graph shows part of a straight line.
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(a) Show that the gradient ofthe line s 25.

(b) Wite down the equation of the ne.

®
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8 The graph shows two parallel ines, Line A and Line B.
y
LineA

Line B

Line Ahas equation
Line B passes through the point (4, 26)

Find the equation of Line B.

Notto scale.

%]
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18 Pisthe point (0, 1) and Q s the point (5, 9).

Find the equation of the line through P that is perpendicular to the line PQ.
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18 (a) Astraight line passes through the point (0, 6) and is perpendicular to y = 4x 5.
Find the equation of this ine, giving your answer inthe form = mx-+c.

(@ S

() Work ot the coordinates ofthe intersaction of the graphs of y = 4x—5 and y.
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‘The diagram shows a straight fine that passes through poinis A and B, and a curve that passes
through points P and Q.

y

(@) Find the equation ofthe straight ine.

) )
(©) The equation of the cunveis y = ¢+ ko + 8.

Find the valus of k.
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() Diann draws line BQ.
She says

Triangle ABQ is isosceles.

Is Diann comect?
You must show all your working.

)
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2

Circle the equation of the line that is parallel oy = %x +3

[1 mark]
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27 The equation of acurve is  y=(x—1?2-6

Circle the coordinates of the turning point.
[1 mark]

(-1.-6) (1,6) 1.6) (1.-6)
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15

Hereis line L and the graph of y=x-1
‘The scales of the axes are not shown.

i

yex-1

‘Work out the equation of line L.

v

[4 marks]
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12 A straight line
has gradient 4
and
passes through the point (5, 23)
Work out the equation of the line.

Give your answer intheform  y=mx+c

13 marks]

Answer




image24.png
25

A quadratic curve intersects the axes at (<3, 0), (3, 0) and (0, 18)

Work out the equation of the curve.

Not drawn
accurately

[3 marks]
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Curve P has equation  y=2(x—1)?-5
Curve Qs a reflection in the y-axis of curve P.
Work out the equation of curve Q.

Give your answer in theform ~ y=ax?+ bx+c  where a, b and ¢ are integers.
[3 marks]
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29 Here are sketches of two graphs.

)
Graph A yE1

\J

The graphof y="~1 i ransited 3 s to the left 1o give graph A

0| ™

20 () The equatonof graph Acan be writen inthe form = + .

‘Work out the values of b and ¢.
13 marks]
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29 (b) Thegmphof y=x'-1 isreflected n the v-axis to give graph B.

‘Work out the equation of graph B.
11 mark]
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Acurve has equation y=4x?+5x+3
Aline has equation  y=x+2

‘Show that the curve and the line have exactly one point of intersection.

Do not use a graphical method.
[4 marks]
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19 ‘The equation of a straight line is ~ 3v+2y = 24

Circle the point where the line crosses the x-axis.
11 mark]

©.8) (12.0) ©.12) ®.0)
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Circle the equation of the line that is parallel to the x-axis.
[1 mark]

i
w

y=-5 x-y=0 x x+y=0
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P(~1,4)is a point on a circle, centre O

Notdrawn
acourately
P
‘Work out the equation of the tangent to the cicle at P
Give your answer in the form = mx + ¢
18 marks)
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Circle the equation of a line that s parallel to y=5x~2
[1 mark]

y=2c-5 y=5x+2 y=3-2
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‘The curve with equation y=x?—5x+2 is reflected in the x-axis.

Circle the equation of the reflected curve.
[1 mark]

y=x®-5x-2 y=—P 4642

yeRisi-2 yeReses2
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15 The straight line L, has equation y = 3x — 4
‘The straight line L, is perpendicular to L, and passes through the poiat (9, 5)

Find an equation of line L,

(Total for Question 15 is 3 marks)
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16 The strsight line L. has the cqution 3y
The poin 4 hascoondtes (3, 5)

Find an quaton of e sright line tha is prpendicalar 1 L. and pases through 4

+7

(ot for Question 16 s 3 marks)
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3 The line L is shown on the grid.

=~

Find an cquaton for L.

(Total for Question 3 is 3 marks)
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4BCD s a el

4. and 3 ae poits o the st ln L with equstion  + 2= 12
i D e potts o he sght e M.

=28
Findan quation for M.

(Total for Question 191 4 marks)
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Find o cqaton o e lin htpsses rough Cand s prpendiclar 0 45,

(Tost for Queston 23 4 mark)





